Installation Dimensions
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Summary of controls

1. Pressure control DR

1 R

2.Pressure control DP for combined work
Pressure control for multi axial piston pump A4VSO’ combined work. DPF) Option: Flow control (DPF)

3. Flow control FR

FRGll\SIaintains a constant flow 1n a hydraulic system,Optional: Remote pressure control (FRG), Orifice in X port plugged (FR1,

Not included within the scope of supply

4. Pressure and flow control DFR
Keep constant flow of pump while hydraulic oil flow is variable. Mechanical adjustable pressure control

is prior to the flow pressure control here. Option: plug the hole in the oil port X.

5. Hyperbola power control LR2

The hyperbolic power control maintains a constant preset drive power at the same mput speed.
Hyperbola power control keeps the setting drive power stable at the same output rotation
Options: pressure control, remote control, flow control, hydraulic stroke limit, machine stroke limit,
hydraulic two points control, and the electric unloading valve that helps to star up.
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Input power and flow
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Adjust pump
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Determination of displacement
Y2 EL _ Vg}lmv ;
i (Flow) W= 009 Lh [L/min |
IXZh % H (Drive torque) T= L P Ve A | Nm]|
1001,

B 2 n Tn v A
Xz T3 (Drive power) P= d = _ 47 2P [Kw]
60000 9549 600_n:

V =HF & (Displacement) [cm"]

-_——a .

AP= & /1% (Pressure differential) [bar]

N=%%1# (Speed)[rpm]

Nn=25F1 2% (Volumetric efficiency)

N =AU E %% (Mechanical/hydraulic efficiency)

= RCE  (Overall efficiency) (=nveNmn)
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